
Wadkin 

INSTRUCTION MANUAL 

Heavy Duty Spindle Moulder 

TypeBER3 

No. B505 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



HEAVY 

CONTROL LEVER 

SPINDLE LOCKING LEVER 

Diameter of top piece 
Optional diameters of top piece 
Size of table 
Speed of spindle 
Rise and fall of spindle 
Table height 

DUT'!" SPINDLE MOULDER 

TYPE BER 3 

SPINDLE RISE AND FALL 
HANDWHEEL. 

FIG. I. 

SPECIFICATION 

It" 
1" and 30mm 
36" x 32" 
2, 80U, 4,500,5, 600 and 8,000rprn. 
6" 

30rum 
915 x 815mm 

150mm 
840mm 

Three circular table'plates giving openings of 
Size of fence plates 

33 tf 

3i",4t",7-";9" 
6" x l6!! 

5t (7toptional) 
3,000 rpm 
3,600 rpm 

80,120,175,230mm . 
150x400mm 

HP of motor 
Speed of motor 1 50 cycles 
Speed of motor, 60 cycles 
Floor space 
Approx. net weight 
Apprux. gross weight 
Approx~ shipping dimensions 

36" X 36" 
780lb 
1,0001b 
46 cu. ft. 

915 x 915mm 
350 kg 
450 kg 
1,30m. 3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



__ 2. 
INSTALLATION 

Remove protective coating from bright parts by' applying a 
cloth 5Qaked in p.nllfin, turpentine or other solvent. 

STOP 

LINK 
I 
I 
I 
., START 

3 3 

3 

MAINS . 

1---1- --I 

• 
MOTOR 

LIMIT SWITCH 
CONTI'OL -3 PHASE 

FIG 2. 

WIRING DETAILS 

The motol' and control gear have been wired in -before 
despatch all that is required is to: connect the powel' supply to the 
starter or isolator when fitled. -

Points to note when connecting.to po-wer supply:-
1. Check that the voltage. phase- anqh~equency correspond to 
those 011 thf' mntor plate. also the "c91'1'ect. coils and healers are 
fitted to the sta.rtel'. 
2. Il is important that the correct size -of cable is used -to give 
llle correct voltage at the starlet;, Too light a cable will give a 
voltage drop at the starter and ma{dam-age the motor. 
3. Check the mailllinc fUSCti arc. ~of-the- correct ,capacity. See 
list below. When an isolator is fitted'. the fuses are of the correct 
capacity as received. 
4. Connect -the line leads to the appropriate terlninals. See 
Fig, 2 fol' 3 phase supply 
5, Check all connecliollS aloe ~OUIld.. 
B. Check the rotation of the motor [or the correct direction. If 
this is incorrect, reverseauy two of the line lead connections for 
3 phase ;supply. 

Voltage Phase H.P. S. W. G. Tinned Fuse Rating 
Copper Wire Amps 

220 3 M 18 45 
380/420 3 5~ 22 2. 
550 3 5~ 23 20 
220 3 7~ 17 65 
380/420 3 7k tr 38 
50n 3 7t 22 24 

Lu"BRTCATION 

It is advisable to keep ::Ut bright parts covered -with a thin 
fillll of oil to prevent rusting. 
TYPE OF OIL RECOMMENDED 
TYPE Of GREASE RECOMMENDED 
TYPE OF GREASE RECOMMENDED 
FOR BRAKE CABLE 

FOUNDATION 

POWER EM 125 
SHELL ALVANIA 3 
CASTROLEASE RRAKF. 
CABLE LUBRICANT 

Scc Fig. 4. for bolt positions and clearances required. \Vhcn 
installing the machine, level the table by paCking under the feet. 

Foundation bolts are not supplied with the machine except by 
special order. 

Oil fence 
slide bar 
weekly. 

Oil Slides 
Weekly. 

I 
( I i l 
'Ill "1 1 

A-llt-----~ 
Grease both ends I I1 " 
of motor 2 turns l I 11 
per year. ~JII ____ JI 

_ -t~-_-_-_-r.1 
{:= =+!t= = = =~ 
(~E~~l?' 

Oil belt tension " ' 
pivot pin weekly. , = = = 

-

_ L-.J.. 

Grease control 
cable weekly. 

Grease "both ends 
of spindle and 
raise and lower 
gear 2 shots of 
grease per week. 

Grease Rise & Fall 
Nut 2 Shots of 
Grease per Week. 

FIG 3. 

r± 
\ Y;:, 

4 - 9/16" hOlt' 
(14mm) 

31" 
,.. 

29~"C Z 
(787mm) 0 

0: 
(749m 

nts 
m) 

I 
I 

.. 

-~ 22"Cnts)4' 

" 
(559mm) 11 -jlll--- 24 r­

f--- (610mm)-------I1 

FOUNDATION PLAN 

FIG 4. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



FIG S. 

BELT TENSION 

The machine is driven by an Alpha section vee· belt from a 
5!HP (std), 7!HP (Optional extra) flange mounted motor. 

To change the spindle speed ensure· that the control lever is 
in the "Free" positon. Unlock the motor and release the belt 
tension by turning the hand' lever "A" in Fig. 5 anticlockwise. 
Re-position the belt to give the required speed' in accordance 
with the speed indicator plate fixed above the access door at the 
rear of the machine. Turn the hand lever ItA" clockwise to 
automatiCally retenslon the belt and lock the' motor. 

The degree of 'belt tension is pre-set in our works but 
adjustment may be necessary within the life of the, machine. To 
increase the tension, turn the scr.ew "B" in Fig. 5 clockwise, to 
decrease tensIon tUrn in opposite direction. Any adjustment 
should be made gradually until the. required belt tension is 
reached .. 

3. 

RAISE AND LOWER OF SPINDLE 

The spindle rise and. fall Is by means of the Ilandwheel "A" 
in Fig. 6 and operates through spiral gears giving maximum 
travel. of 6" (152mm). 

The· spindle assembly can be locked at any height. by means 
of the locl-c:ing lever tlBlI. 

Whilst the· rise and. fall movement of the spindle provides an 
immediate adjustment of. the cutter height, further adjustment 
outside the range; of: this can be, affected·. by re~positioning the 
collars· on' the work spindle·. 

ADJUSTMENT OF BRAKE 

The, brake· on. the macmne- is pre-set before leaving the factory 
but, should the· brake: require· adjustment due: to normal wear, 
lhe undermentioned procedure· should"be followed:-

To adjust for wear, the. hexagon '.-lOckouts· on the end of the 
brake pull rod should. be loosened off and ,adjusted gradually 
until the- correct brake' adjustment is. obtained. The- locknuts 
should then. be re-tightened. 

I 
RUN 

2 
FREE 

BRAKE 
3 

BURSGREEN CONTROL GATE 

4 
LOCK 

FIG 7. 

The.· control gate is clearly' shown in Fig. 7 and· has' four 
p05itions~ 
Position 1. ItRunll. The lever must be in.this·· position before· the 
motor will start. 
Position 2'.. "Free". The lever must be in this. position at all 
times when the machine is idle: or being. set. up. Although the 
work spindle is. quite free- to rotate by hand ·for cutter setting, an 
automatic cut-out switch ensures. that the motor,·· carmot be 
accidentally started. 
Position 3. "Brake". Movement of lhe lever from the ·"Run" to 
thIS "Brake" position automatically switches off the: motor and 
light pressure on the lever operates an efficient spindle brake. 
Position 4. "Lock". When the lever is in this position the· motor 
is automatically cut-out and the main spindle is firmly locked. to 
facilitate removing- or re-fitting of the work spindle· and culter 
equipment. The lock is effected by a. spring loaded plunger which 
engages in any of four positions It may be necessary to 
rotate the spindle Slowly by hand to ensure· that the plunger is 
fully engaged in one of these p05itions. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



+. 

IMPOllTANT 
Keep this face clean 
and free from burrs 

WORK SPINDLE INSTALLATION 

FIG. a. 

!he three remm'able table rings give table openings of 9". 
7",4'~" and 3t" dia (22!), 17S.-121 and 83mm). The required table 
opening should be selected before proceeding to fit the work spindle. 

To insert the work spindle the undermentioned procedure 
should be followed:-

In'sert the work spindle "A" in Fig. B into the main spindle 
through the table opening selected. Gl'eal care should be taken 
to ensure that the work and main spindle seatings are completely 
free from all burrs. dirt and rust. A thin film of oil should be 
placed on the work spindle seatings before inserting. Align the 
peg in the work spindle with the slot in the main spindle and press 
spindle onlo seating, 

Move control level' to "Lock" pOSition as previously described 
and screw spindle locknut securely to the main spindle, firmly 
locking the work spindle in position, 

To remove the work spindle reverse the above procedure. 

Important 

Always ensure at all times that the work spindle is securely 
held by the spindle locknut before starting tbe machine. 

FENCE ADJUSTMENT 

Each fence plate can be independently adjusted by means of 
the plastic handwheels "A" in Fig. 9. The fence plates can be 
set to the desired position and locked by the adjustable handles 
"B". The front fence plates can also be adjusted lengthwise. 

The fence plates should be locked 'both ways at all times when 
the machine is in use. 

The fence is fitted with a safety guard and a "shaw" guard can 
also be fitted if required. 

The safety guard is adjustable depending on the section of 
timber being worked. This guard is shown in position in Fig. 9 
To adjust the guard for various sections of timber, unscrew the 
plastic handwhce1s "C". set to rcquired 'position and relock. 

To adjust the safety guard in relation to the fence plates 
loosen the plastic handwheels liD", position the safety guard and 
relock. 

B 

FIG. 9. 

GENERAL HINTS 
1. Always select the COrrect speed far the cutter equipment being 
used. Wadk1n/Bursgreen cutterblocks are normally stamped 
with the maximum permissible speed, but this may need -to be 
reduced dependent on 'shape and general condition of cutters 
being used. 
2. Usc sharp cutters which should be reasonably well balanced. 
3. Ensure the cutters are tight on the blocks before starting 
machine. Use spanners provided and never fit a piece of piping 
to obtain greater leverage. This will strain the nuts and bolts 
and ultimately make them unsafe. 
4. Never !Jack lIu: cuttel's with sandpaper. This is most 
dangerous as the grit collapses when the cutter is working, and 
the cutter works loose. For packing use one thickness only of 
brown paper. 
5. Keep nuts and bolts clean and keep oil on the threads. 
6. Never run the cutter equipment at higher than the 
recommended speed. 
7. Always use the guards available to ensure maximum protection. 
a. Make good robust jigs and ensure that the parts are located 
securely on the jig. 
9. When changing cutter equipment always ensure the machine 
control lever is in the "Free!! or "Lock" position, If in doubt 
isolate the machine electrically. 
10. Always notch cutters for french spindles as shown in Fig.10 
for the spindle lucking bolt to locate the cutter. 

! 
Yt~T 

FIG. 10. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



-~4~ __ -

8-· 

11 I 
Ir 

Ref.No ~. 

1 B-I057/24 
2 B-I057/25 
3 B-I057/26 
4 E-1057/2 
5 
6 A-I057/49 
7 A-I057/148 
8 
9 
10 
11 
12 
13 
14 C-I057/76 
15 E-I057/45 
IS 

14 

MAIN FRAME ASSEMBLY 
No. Of[ 

1 
1 
1 
1 
3 
1 
1 
4 
1 
3 
3 
6 
3 
1 
1 
2 

Description Ref.No Part No. 

Small table- ring. 17 B-I057/85 
Medium table ring 18 
Large- table ring 19 
Main table 20 ZT3 
1/8" dla x i" long groverlok. spring dowel 21 
Table adjuster 22. 
1" simplex nut 23 
!" washer 24 T-44-11E 
~" whit x 2~" long hexagon head bolt 25 
~" whit x 2" long stud 26 T-44A RE 
k" whit aerotight nut 27 
_t" whit x ~" long round head screw 26 
1/8" gas grease nipple 29 
Control plate 30 C-I057/47 
Sheet steel. base 31 
{" whit x 1" long countersunk screw 32 

NOTE ;-

When ordering t'eplacement parts quote 
part no. and serial number of the machine. 

No. Off 

1 
7 
7 
1 
1 
1 
1 
1 
2 
1 
1 
1 
1 
1 
5 
1 

5. 

30 

31' 

Description 

Grease nipple- backing plate 
-in wasber 
i" whit nut 
Brooks -starter 
3/16" B.S~_F.xtn long round head Screw 
Latch for. rear door 
Distance-,collar for rear door handle 
Spindle_ for handle 
3/16ft-whit x: 5/16," long round head screw 
Handle_for rear door 
Washer for handle on rear door 
Bump washer for handle on rear door 
ljS" dia x in long groverlok dowel 
Rear door for base 
t" whit x:t" long round' head- screw 
3/16" 8.S.F. washer 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



•• 

Rei.No Part No. No.Off 

40 4 
41 4 
42 , 
43 A-I057/48 I 
44 4 
45 B-I057/43 I 
46 5 
47 D,:",1057j1 I 
48 4 
.9 2 
50 A-I031/62 I 
51 665/3 I 
52 A-I033/204 I 

" SKF 08 4 
54 I 
55 2. 
56 I 
57 A-I057/35 I 
58 A_I033/205 1 

" A-I057/3B I 

RISE & FALL ASSEMBLY 

Description Rei.No Part No. No.Off 

5/8" whit x l~" long hexagon bead -bolts 60 4 
5/8" spring washers 61 2 
{" dia x l"long grovcrlolt spring dowel 62 C_IOS7/4 1 
Gearbox .Cover 6.'l A-I057/36 1 
3/16" whit x 3/8" long round head screw 64 A-I057/41 1 
Spindle slide gib strip 65 A-I057/39 1 
3/B" -:whi~ x It" long hexagon head bolt 66 1 
Rise and fall slide 67 I 
3/S',' whit locknut 68 A-I057/37 I 
3/8"-whlt,x H" long socket bead g"rubscrew 69 1 
Grease tube 70 C-I044/56 1 
Straight -connector (brass) 71 A-IOS6/75 I 
Spiral rise and fall pinion 72 1 
Thrust bearing 73 1 
3/16" dia x I!" long groverlok spring dowel 74 1 
1" Vd X _if" 0l.d x~" long oHite bush 75 1 
3jl6" dia x 1." long groverlok spring dowel 76 A-I057 j15B 1 
RIse and fall screw 77 5100/37 1 
Spiral rise and fall gear 
Rise and fall -slide locking bot 

78 A_I057/157 

NOTE ;-

When ordering replacement parts quote 
part no. and serial number of the machine. 

jf? 
67 li\ 

69 

77 

Description 

3/8" whit xl" long hexagon head bolt 
3/8" whit x 2" long socket head grubscrew 
Rise and fall bracket 
Slide locking shaft 
Rise and fall bea.ring cover 
Collar for handwheel shaft 
3/16" dia x 2" long groverlok.'spring dowel 
3/16" dta x 7/8" long groverlok spring dowel 
Rise and fall handwheel shaft 
Adjustable handle ~" female plain 
Rise and fall handwheel 
Washer for rise and fall nut 
too whit aerotight nut 
3(16" dla x 1.3/S" long -groverloksprlng dowel 
1" ijd x H" old x It" long oilite bush 
Collar for Rise and fall handle spindle 
Rise and fall handle spindle 
Circlip for handle spindle 
Rise and fall pl.a.stic ruwdlo 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



7. 

o 
/~_B_' ___ """" 82 83 84 85 60 87 
-=3lC_--"JW_'i~BB 

r IJ(}-----91 
) 

\ ",,_--7104 

107 

selhJQI !; HQ!.!SlhJG ASSEMBLY 
Rer.No, Part No, No~Off Description Rer.No. Part No. No,Off Description, 

BO B-I057/54 1 1 t" dia work. spindle A-I057/140 1 1" bore x t" long spacing collar 
B-I057/112 1 1 tI dia work. spindle (Extra) (Extra) 
B-1057/88 1 30mm work spindle (Extra) A-I057/139 1 30mm bore x tit long spacing collar 

Bl 1 5/16" dia x 7j8" long dowel (Extra) 
B2 A-I057/138 It" bore x 2" long spacing. collar BB A-I046/32 1 1 t" spindle- nul 

A-I057/140 1" hore x 2" long spacing: collar 1 1" BSF sp1ndlEf'nuf 
(Extra) A-I046/63 1 30inm spindle nut 

A-I057jl39 30mm bore x 2" long spacing collar B9 A-I057jl50 1 Key.for main spindle- shaft 
(Extra) 90 C-I057/27 1 Main spindle 

B3 A-I057/138 1 q." bore X It" long spacing collar 91 8-1057/31 1 Main 5pindle-nut 
A-1057/140 1 1" bore x I!" long spacing collar 92 1 !tr whit x H" longbexagon head bolt 

(Extra) 93 1 In spring- washer' _' 
A-1057/139 1 30mm bore x HI! long spacing collar 94 A-1057/40 1 Pulley locking;washer 

(Extra) 95 C-1057/52 1 Spindle- Pulley 
B4 A-I057/13H 1 It" bore x It" long spacing collar 9. B-1037/33 1 Brake disc 

A-1057/140 1 I" bore x 1~" long spacing collar 97 A-1057/30 1 BeaTing spacer 
(Extra) 9B C-I057/30 1 Bearing spacer 

A-I057/139 1 30mm bore x It'' long spacing collar 99 SKF 6211 2 Bearing 
(Extra) 100 I lOOmm Internal circlip 

B5 A-I057/13B 11--" bore x 1" long spacing. collar 101 W394,25551R4 2 on seal' 
A-1057/140 1" bore x: 1" long spacing collar 102 EPL 6B 1 Bum-p washer 

(Extra) 103 B-I057/23 1 Dust cap 
A-1057/139 1 30mm bore x 1" long spacing collar 104 3 5/16" whit x ~I! long hexagon 'head 

(Extra) bolt 
B6 A-1057/138 1 1 t" bore x t" long spacing collar 105 4 ~" whit x 1" long',hexagon head bolt 

.'\-1057/140 1 1" bore x :fro long spacing collar 106 4 .-~ .. BSF ~pring washer 
(Extra) 107 D-l057/3 1 Spindle housing 

A-I057/139 1 30mm bore x~" long spacing collar lOB 865/2 2 Straight connector 
(Extra) 109 2 3/16" dia nylon pipe 

B7 A-1057/13B It" bore x 4" long spacing collar 
NOTE :-

When ordering replacement parts quote 
part no. and serial number of the, mac.hine. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



ReI.No 

120 
121 
122 
123 
124 
125 
126 
127 
128 
12. 
130 
131 
132 
133 
134 
135 
136 

137 
138 
139 

140 
141 
142 
143 
144 
145 
146 

8, 

.MQTOR MOUNTING 

I' 

~: 
: 149 

154 

148 

ASSEMBLY 
Part-.No. :~ "D"e'scription Rei.No Part No. ~ Description 

C,1057j134 1 Motor 'cover 147 1 !" 'whit aerotlght nut 
B-I046/75 1 Cable 'assembly 148 5 3/8" whit nut 

2 5/16" whit X 3/8" long round head screw 149 S 3/8" washer 
2 3/8" whit x 2t" long hexagon head bolt ISO A-1057/154 1 Motor tension dowel 

A-10S7/13. 1 Cable support -plate lS1 1 Brook motor, 5· 5HP, 3, ODOrpm flange 
A-1045j136 2 Cable return spring mounted,-frame size D-112M 
A-IOS7/14 . i B_rake ,spring guide 1 Brook motor, 7' -5HP, 3, OOOrpm flange 

2 . ,~" bore x 5/8" old x ~ .. long oUite bush mounted, frame size D-132S 
1 {-"-whit -loclmul lS2 1 3/8" whit x 2" long socket head capscrew 
3 -ifl B. S. F. Iocknul lS3 1 3/8" spring washer 

A~1057/9 1 Brake locknul IS4 A-1057/42 1 Motor pivot bush 
ACI0S7/18 1 _Brake control rod IS5 1 3/8" -whit x ~ .. long socket head. grubscrew 
C~10S7/28 1 Rise and 'fall plate lS6 A-10S7/22 1 Clamp nut 
A-I057/11 . 1 ' ~indle locking pin 157 1 3/8" whit x 1" long socket head grubscrew 

2 3/8" whit x I" long socket head capscrew 158 B-1027/26 1 Motor locki~ handle 
A-1057/12 1 Cable anchor plate 159 1 3/8" whit x 1t:" dia plastic ball 

4 ,3/8" whit x 1 tU long -socket head 160 A-I057/51 1 Washer for motor clamp 
countersunk screw 161 2 3)16" whit x 3}811 long round bea.d screw 

B_I057j82 1 Motor tension plate 162 A-10S7 j1S1 1 Cover for motor tension clamp 
A-I057/10 1 Lo.cldng pin location ,'block 163 A-10S7/21 1 Motor tension peg 

2 3/16" x 3/S" long countersunk copper 164 A-1057/19 1 Motor clamp 
rivot 165 A-I0S7/58 1 Motor tension spring 

A-1033j194 1. Motor tension release !lpring 166 A_I057/5 1 Motor clamp heel 
A-1057/16 1 Brake pad 167 2 5/16" whit x tu long socket head capSCrew 
A-1057/15 I Brake-plate 168 1 5/16" whit nut 
A-10S7/17 1 :Brake 'Plate heel 16g 1 5/16" whit xl!" long hexagon -head bolt 

2 3/S" whit x It" long socket head capscrew 170 A-1057/86 1 Belt tension instruction plate 
A_I0S'7j20 1 Motor clamp stud 171 2 liB" rivet 

1 !" washer 172 1 3/1S" x 5/8" long key 

NOTE :-

When ordering replacement parts quote 
part no. and serial number of tbe machine, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



......... :, 

'~~" 0 

201 

202 

= 
204 

FENCE 
Ref. No. part No. ~ Description 

180 A-IOST/;7 2 Fence adjusting screw 
181 • fl brass washer 
182 A_IOS7/67 2 Collar [or fence-adjustment screw 
lB3 C-1057/162 1 Fence tie plate· 
184 6 3/S" whit X ~" long socket bead. button screw-
1B' • t·, dia x t" long,fluted dowel 
18. 6 t" whit x :!" long hexagon head bolt 
187 2 3/l/J" ma,X It" long groverlok spring dowel 

'" 2 2" dia. plastic. handwheel ~" pla1JL bore 
19. • 3/16" dia:x. 1" IOlllg grovedol( spring dnwel 
lYO B-1057/94 2 Pressure· pads 
191 0-1057/91. 1 Right.hand: rence bo.;l.y 

1 Left hand fence body 
192 0-1057/92 1 Fence cover 
193 B-S-Z09 2 2, 1/8" dia plastic handwheel 3/8" plain. bore-
194 A-I057/149 Z Fence cover IDCkill~ ~Ollt 
ISS 2 3/S" washer 
19. • Adjustable· handle·}n whit bore 
197 4 3/1S" dla x l" long grovedoll: spring. dowel 
198 2 3/B" whit x: I" long &tud 

223 

226-_-"1\ 

'227-,<-_-

234 

233 

'96 

21 • 

'" 

2'. 

209 

20& 

ASS/,;;MaL.Z: 
Rei. No. ParlND. ~ . DeS!:riptrori 
1£9, A-I04;6/Z_B. 

, " ,.','Sp'ai:£e_r ,',', 
200 2 ,J"-whit x H'~_long stud. _ 
201 >'a-1051/96, 2' .',SUdEtBa:r_~ . ;, ,,_.:, ___ ' _ '_ 
20. , , ,t" whi~, x a:".1orilr socket. head 'capsc,rew· --, 
2Q3 A.;1792/67, " Waaher fOr-rence. $lide- b:lr-,- ;,.' -" .. 
204 2 3/B'! 'whifx :t":loDg; beiil!ton:, head bolt 
205 2 3!8~1 dia x 5/1&11 long'brass hoE', 
206 C'-105'i/89 1 Right hand fence pl;.le bracket: 

'I Left hand fence· plate- bracket 
207 • 3/B'~ whit nut 
209 • 3/8" whit,x; It·~ long brass grubscrew 
209' 2 i" whit l!; Il:" long stud 
210 6 t" whit x: t" long. socket heat! button screw 
211 B--I057/104 2 Chip deflector 
212 2 i" washer 
213 B_1Cl5'l/95 1 Front guard 
214 > 5/16" washer 
m 2 It" dta.plastic. h.andwbeel 5/1S" whit 
216 C-1057/l01 2 Fence- pla.te 

CONTROL LEVER ASSEMBLY 

Rei. No 

220 
221 
222 
223 
> .. 
225 
226 ' 
227 
228 
229 
230 
231 
232 
233 
234 

~.~ Description 

A-1Q57j79 
A-1057j127-
A-I057j95. 

A~1057/.7B 
A-IOn/B 
A-I057j9 

A-1057j7 

0-1046/'16 
A-I057/6 
A-I05Sj77 

NOTE. :-

1 It'' dla plastie ball !" wbit 
Z Brake packing piece 
2: Washer for brake pivot 
1 Control handle 
2 3/8" whit x It" long socket head capacrew 
1 . swiyel.pin-anchor-'Plate,-
I' ·.voke'ror:~brake_" 
1 Brake-pivol pin 
1 t":\¥hit x 3/B" long socket hE!l\d grubscrew 
1 Brake anchor plate 
1 l" washer 
1 ~" whit aerotlght nut 
1 Cable 
1 Brake swivel pin 
1 Swivel pin sleeve-

When ordering replacement parts quote 
part no, and serial number of the machine, 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



I(). 

~ '" 

~ I~ J 
~-

'" '" '" 
'" 

~ ~ 
~ 

RING FENCE & RING GUARD 
EXTRA" ' 

ASSEMBbY 

ReCNo'. Parl No~':"No~O(f Description ;ReLNb~ 

249, 
250 
251 . 
252'", 

','253::-

~. No. Off 'Description 

240 A~1029/59 
2U 
242 Bcl05~!1,37 
243-
2<\4'; '(;-1:"05711,22 
'245 A~105~/1~6 
246 D-1792,1114 
247 
248, 

SHAW 

ReLNo Part No. 

260 D-1792/17 
261 
262 
263 
264 A-I057/142 
265 A_I057/l44 
266 

267 
268 B-I057/133 
269 
270 

3 
3 
3 

, 3, 
1 
1,;-
1 
3, 

,-2-

Knurled knob for ring guarrl 
3J8" wa.aher 
RIng 'guard flap , __ 
3/8"'Wbit x {"Jong-coacb bolt 

-'Ring-F'd ,,- ,-" --, 

, ; :'Po"sffor _riDg guard 
1" x 1:' roboe -' --,- "" 

"" .i\djuatab!e: -handle 3j8" Whit ~ , 
',5/l8" whit,x-!" l,?~g hexagon-bead bol~ 

~UABQ A~~r;;MB!..'i 
EXTRA 

No.Off. 'Description 

I Tee Filboe 
I NI;). 3 Taper pin 
2 3/B" whit x l!"long brass stud 
3 Adjustable handle 3/B" whit bore 
I Horizontal shaft for shaw 'guard 
I Vertical shaft for top shaw.guard 
4 3/B" long No. 8 black japanned -round 'head 

woodscrew 
4 3/16" washer 
2 Sbaw g-uard shoe 
2 3/8" spring washer 
2 3/8" whit X f" long hexagon head bolt 

254 
255 
256 
257, 

RefNo. 

271 
272 
273 
274 
275 
276 
277 
278 
27. 
280 
281 

1 
A-l057(145 1 

A.,;105'i'!125 
C"1057(121 

3 
1 
1 
2 

"2 
.2. 

B.,.1057/,~23 ".1 

NOTE :-

3/8" _whit x, i" :long socket head grubscrew" 
Ring fence trapping-plate 
3/8" whit x It'' long stud . 
Post -for ring fence 
Ring fence 

" -3/a" whit x 5J8"long sock~t head grnbscrew 
In-whit x'.2t" long -hexagon head bolt 

, i" 'w&sber-
._ :Foot for ring fence and ,guard 

When ordering replacement parts quote 
part no. and serial number of the machine. 

Part No. No.Off Description 

B-I057/132 2 Shaw guard spring. 
2 3/B" washer 
1 3/B" whit x 1i" long stud 
1 3/8" whit nut 
2 1" whit x It" long hexagon head bolt 
2 I" washer 

B-l"05'lj124 1 Front shaw guard bra.cket 
A-I057(131 1 Front shaw guard slide 

1 3/8" whit x 2" long stud 
B-l057(153 1 I" x I" split mboe 
A-I057/143 1 Pillar Cur ::;haw gua.l"o.l 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



EXlRA 

SHAW GUARD:- This guard provides top and, side: pressure and 
ensures safety in operation for use with the standard fence or as 
effectively with the ring fence for curved work. 

SAFETY GUARD AND RING FENCE 

The safety guardhas adjustable flaps which completely cover 
the cutter eqUipment. This is used in conjunction with the ring 
fenc e which is for use on all types of curved wor It. 

TENONING ATTACHMENT TYPE E. G. 

This is an efficient and inexpensive method of tenoning on a 
spindle moulder. The attachment will cut single or double tenons 
up to 5" long, 11" wide; it will scribe either single or double at 
the ~i:\.Ule uperation; it will cut angular tenons; it ca.n be used for 
half lapping. 

Shoulders of tenons are left dead square and no hand work is 
required on the tenons when they come off the machine. 

The attat:hment is provided with stops to ensure exact length 
between shoulders. No setting out is required. 

11. 

CORNER LOCKING ATTACHMENT TYPE E.F. 

This attachment is capable of, dealing: with work up, to 6" in 
depth.. and of any desired. pitch. Any Dumber:,of boards.ilp-to 611 

in thickness can be clamped together" and machined. at the one 
operation. The attachment consists of a sliding table· mounted on 
a slide frame' secured to the. main table of the machine. Tru.s 
table is provided with fence· rum clamp for securing the work and 
slides past the· cutters by hand .. 

The_ ordinary spindle. moulder. fence- is. -used as a stop_ for 
placing the- boards in position. We- can supply, a. special top piece· 
Lt" diameter with. suitable key and. each~ cutter_ ia- arranged- with a 
keyway so that the cutters are staggered around. the spindle; to 
give an even cut. 

STAm HOUSrnG ATTACHMENT:- This attachment. consists of 
template guide- roller. arm and pillar. 

This attachment can be fitted in a few minutes. The roiler 
guide which controls the cut, is rigidly, 'carried oJ? a solid. steel 
arm from a pillar and_;centred' with the spindle-. The template is 
secured to stair string by means of a hand nut. The template is 
reversible to produce a pair of strings right and left hand without 
resetting. Marking oul is !,)l'aclically eliminated and a complete 
pair of strings can be \!Ul i'l less time than L'3- normally taken in 
marking_ out. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



12. 

0' 
T 

Il'm:::H-

3' 
:; 

PITCH 

DOVETAIL ATTACHMENT TYPEE.E. :- For board up to 12" 
(30.5mm):Wlde· supplied complete with comb plate, collet adaptor 
an~ -3/8," di;a·.(am,m) -H. type collet 

~ Thi_Er--attac~,~ent-'i~ a very simple efflpient device for dove­
taiUng two_ po_ards at ,z:~ght angles:to ,each, ?~er ", -They W"e clamped 
1n-p~sition ands_il:it~le __ stop~ ar~ provided for',setting. Both -the 
doveJail,'-and the pin _ar_e i)rod:1.J.c~d _at, the_'same operation, and the 
pin i_s'l'ounded so th~ ,rio_ han.d.wo~k IBJi.8cessary. 

-Guide plates and-:bits ar-e -ava.ilit.J:,ie'for. the following pitches 
i''', 5i8"', t", 1", It" arui:lt" (13mrn~ 16m:rri,19mrn, 25mm, 32mmand 
3Bmm) 

Note:- When .ordering -spare dovetail bits, please specify pitch 
size not the diameter' of the hit. 

SPINDLES & ADAPTORS 

STANDARD LOOSE SPINDLES :- 1" or it" dia(25mrn and 30rnm) 
avallable. These are for carrying standard bore cutterblocks, 
:.slotted collars, grooving saws, etc. The spindle threads are 
right hand, and all spindles are 8uppli~ with locknut and a set of 
making up collars. 

e(j= Jp 

SLOTTED FRENCH SPINDLE:- For ~carrying one in (Smm) thick 
cutter orily, whiCh is secured by a' hardened steel set screw. 

Maximum recommended speed :- 4,500rpm 

COLLET TYPE ROUTER ADAPTOR:- Tbis adaptor is supplied 
complete Wlth 3/Sh , i" and ~116" (9mm, 13mm, and 14mm) "H" 
type collets. It enables standard router cutters to be used. 

ADAPTOR: FOR STAIR HOUSING ATTACHMENT :-Specialadaptor 
having a 5/B"-bore(i~mm)to accept both "zll type and clothes peg 
type cutter. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



CUTTER EQUIPMENT 

/' <:::::;l 
........ 

~ .d 

,r-
.-~ 

/' r... .~ 
l"- V 

..... '-

./ 

PLAIN SLOTTED COLLARS ;­

For 1" (25mm) dia. workspindle:-2t" (64.mm) dia, with t"(6mm) 
wide slots 

Minimum. cutting. circle :- 3" (76mm) 
For tt" (30mm) dia work spindle :- 3" (76mm) dia with it! (6mm) 
wide slots 

Minimum cutting circle:- 3.5/8" (92mm) 
Slotted collar cutters have many advantages. they have a good 

cutting angle, a comparatively small cutting circle and are easy 
to shape, maintain and re-grind and also inexpensive.. The 
maximum c.utter projection should not exceed 5/S" (16mm) to 
ensure maximum strength and support 
2t" (64mm) dia x 1" (25mm) bore or 3.3jB" (B6mm) dia x. 1-1-11 
(30mm) bore ball bearing type slotted collars also available. 

BALL BEARING GUIDES:- Avalli?.ble; in two sizes for 3!" and 
4" cutterblocks (89mm and lOlmm) 
3~" (89mm) dia x I" (25mm) bore 

13 • 

/"\ 

~o~ 
\ a a 

cmCULAR CUTTERBLOCKS :-' These. cutterblocks; have- wedge 
type clamping for safety. They are- smooth.-running,'and used for 
facing or shullow rebates etc:_ 
For-Ill dia_(25'mm) work spiridle:_:-
3~" (B9mm) diameter cir.cUlar cutferblock, 3,i' (76mrii) lo.llg,or 21t 

(50mm) 10nlf. 
Maximum. recommended- speed:- 7~ OOOrpm 

For H"n dia (30rnm) work spindle:-
4t! {102mm} diameter: circUlar: cutterblock 3" (76mm) long 

Maximum_ recommended spe-e:d':- 7,OOOrpm 
d·" (lOBmm)- diameter circular. cutterblock 4" {102mm),long" 

Maximum- recommended speed :- 6,OOOrpm 
4t" (lOSmm) diameter circular cutte_rblock: 61

'_ (l52mm) long 
Maximum. recommended- speed" :- 4·,500rpm 

o 

4.1/8" (104mm) dla x 1" (25mm) bore TWO KNIFE WEDGE TYPE MOULDING CUTTERBLOCK 

These cutterblocks are used for 
in pairs. Two or more· may be 

mounted on a single block build up a mould. . 
For 1" dia (25mm) work spindle:-
2~" (64mm) square x 3" (76mm) long complete with 4 - !" whit 
(13mm) dovetails cutter bolts, nuts and washers. 

Maximum recommended speed ;- 4, 500rpm 
For It" dia (30mm) work spindle:-
3in (l39mm) square x 3Tl (76mm) long complete with 4 - 5/8" whit" 
dovetail cutter bolts, nuts and washers. 

Maximum recommended speed :- 4,500rpm 
3i" (89mm) square x 4" (102mm) long complete with 4-5/8" whit 
dovetail cutter- baits, nuts and washers 

Maximum recommended speed :- 4,500rpm 
at" (S9mm) square x 5" (12_7mm) long complete with. 4 - 5/8lf whit 
dovetail cutter bolts, nuts and washers 
3tn (S9mm) square x 6"(152mm) longcompletewtth 4 - 5/8" whit 
dovetail cutter bolts, nuts and washers 

Maximum recommended speed :- 4',500rpm 

These-cutterblocks are designed to take from-5/32" (4mm) ta 
t" (6mm) thick cutters this permits tungsten carbide tipped cutters 
to be used- when necessary. 

The cutters_ can be- used for -mouldings requiring __ up_ to-!l1 
(13mm) cutter projection when,using tit thick cutters _' _ 
4" (102mm) dia x 15/16" (24mm)_ thick x 1" (25mm) bore Part No 
QR60 

This block u!:Ies 5/32" (4mm)-thickcutters only~, 

4.7/B" (l24mm) dia x 15/ 16"(Z4mm) thick x 1" (25mm) bore. Part 
No. QR 11/B 

4.7/8" (124mm) dia x 15/ 16"(24mm) thick x tt" (30mm) bore. 
Part No. QR liB 

4~ 7/8" (124mm) dia x. It" (32mm) thick x 1t" (30rri~) bore. Part 
No.QR 2 

4.7/8" (124mm) dia.x 1-!" (38mm)_thickx 1~1I (30mm) hnre,. Part 
No. QR 10 

4.7/8" (124'rnm)- dia x '2" (50mniY thick x It-" (30mm) bore. Part 
No. QR3 

4.7/8" (124mm) dia. x 2" (50mm) thick x l,i" (30mm) bore. 4 Knif~ 
Part No. QR66 

5.3/8" (137mm) dia x 15/16" (24mm) thick x It" (32mm) bore 
Part No. QR4 

4.7/8" (124mm) dia x 2" (51 mm) thick x H" (32mm) bore, with 
top and bottom bevels. Part No. QR 57 

8" (20amm) dia x 15/16" (24mm) thick x 1~" (32rnrn) bore. Part 
No. QR 16 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



14. 

WOBBLE SAW:-

These, saws are used where varied widths of grooving are 
called for, and where quantities are _small. They are not 
recommended for quantity production or where precision accuracy 
or the highest standard of finish is required. 

6" (151rnm) diameter for grooves .1/8n to -~n (3mrn 10 19mm) 
_For use on lit and It" dia (25mm and 30mm) spindles 
MaximUm recornmellded speed 4, '500rpm. 

CUTTERS. 

CUTTERS FOR QR BLOCKS 

V'Z Cutlers 5(:32" thick T.e. Tipped 
~ .. on cut VZ VZ/T ., 
1" on cut VZ1 VZ1/T 
1~" on cut VZ2 VZ2/T 
1!" on cut VZ3 VZ3/T 
l~tI on cut VZ4 
2" on cut VZ5 VZ5/7 
2j" on cut VZ6 

t" Thick T. C. Tipped 
.!!I! on cut VZ20 • 
1" on cut VZ21 VZ21/T 
1}" on cut VZ22 VZ22/T 
1~'_' on cut VZ23 VZ23/T 
It'' on cut VZ24 
2" on'cur VZ25 
2:}" on cut VZ26 
2t" on cut VZ27 

Router cutters: 

CUTTERS FOR STAll HOUSING ATTACHMENT:­

Z Type and Clothes 'peg type 5/8" dia shank. 

These cutters are designed to give a slightly undercut trench 
and perfectly uniform wedge space. All 'have 5/B" dia shank. 

CUTTERS FOR. .SQUARE CUTTERBLOCKS 
& 

SLOTTED COLLARS 

Rebate & Square Irons 

For 2!" square cutterblock :-

Rebate Irons Square Irons 

Part Nos. 

On Cut R.H. L.H. On Cut Part Nos. 
.1 .. VQ1 VQ2 1~" VQ13 , 
5/8" VQ3 VQ4 It' VQ14 
.1,. VQ5 VQ6 2" VQ15 , 
7/8" VQ7 VQB 2i" VQ16 
1" VQ9 VQ10 21" VQ17 
tin VQll VQ12 3" VQ1B 

For 3!" square cutterblock :-

Reba.te Irons Square Irons 

Part Nos. 

On Cut R.H. L.H. On Cut Part Nos • 
.1" TBl TB2 H" TB14 , 
5f8" TB3 TB4 2" TB15 
1" TB5 TB6 2-ln TE1S , 
7/B" TB7 TBB 2~" TB17 
I" TB9 TBIO 2.111 ., TB1B 
1.1" TEll TB12 3" TB19 It" TB13 TB13a 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



TO!!g!!in& and Grooving Irons 

For 2!" square cutterblock :- For 3~n square cutterblock:-
Part No. Part No. 

Size, Tonguing Grooving Tonguing Grooving 
Cutter Cutter CuLLer- Cutter-

1/8" VSl VRl TV TX 
3/16" VS2 VR2 TVl TXl 
1" VS3 VR3 TV2 TX2 • 5/16" VS4 VR4 TV3 TX3 

3/8" VS5 VR5 TV4 TX4 

For 2t" dia slotted collars :- For 3" dla. slotted' colla.rs:-
Part No. Part No. 

Size Tongulng Grooving Tonguing Grooving 
Cutter Cutter Cutter cutter 

3/16" BVLl BVJl VL1 VJl 
i" BVL2 BVJ2 VL2 VJ2 

5/16" BVL3 BVJ3 VL3 VJ3 
3/8" BVL4 BVJ4 VL4 VJ4 

I 

~ C 
~\ I 

OvOID Cutters 

For 2-j" Square- Cutterblock For 3t" Square· Cutterblock 

Dim A .. Part No. Part No. 
1.11 BTF1 TF1 , 
318" BTF2 TF2 
-" BTF3 TF3 , 
51.8" BTF4 TF4 
-" BTF5 TF5 , 

. 7/8" BTF6 TF6 
1" BTF'7 TF7 

For 2!" dia. Slotted Cutterblock 

For 2ill dia. Slotted. Collars For 3" dia-.. Slotted Collars 

Dim-A. Part Nu, Part No. 
AI! BTH1 THl • 3/8" BTH2 TH2 
1." BTH3 TH3 , 

5/8/1 BTH4 TH4 
1." BTH5 TH5 4 

7/8" BTH6 TH6 
1" BTH7 TH7 

Scotia, Cutters, 

For 2!1! sq. 
cutterb!ock 

Dim A. part No. 
lit BTJl • 
3/8" BTJZ 
1" BTJ3 , 
5/8" BTJ4 
i" BTJ5 
7/B.1I BTJ6 
1" BTJ7 

. " ..l ~
. 

Beading. Cutters 
For 2t" sq. 
cutterblock 

Dim.A -Part No. 
1,. BTN1 • 
3/6'''- BTN2 
1. .. BTN3 , 
5/8" BTN4 
1." BTN5 , 
7/8" BTN6 
1" BTN7 

1.1/8" BTN8 
ti" BTN9 

1.3,1ll BTN10 
li" BTNll 

~1 -~ 
Sash Cutters 

For 2!" sq. 
cutterblock 

Dim A. Part No. 
1.3(8" BTRl 
1. 5/8" BTR2 
1.7/R" BTR3 

For 3tH sq. 
cutter block 

Part No. 
TJl 
TJ2 
TJ3 
TJ4 
TJ5 
TJ6 
TJ7 

For 3t" sq. 
cutterblock 

Part No. 
TNl 
TN2 
TN3 
TN4 
TN5 
TN6 
TN7 
TN8 
TN9 
TN10 
TNll 

For 3l" sq. 
cutterbiock 

Part No .. 
ETR! 
TR2 
TR3 

15. 

For 2!"dia. For 3"dia 
Slotted' Slotted 
Collars. Cblrars 

Part No. Part' No. 
BTLl TLl 
BTLZ· TLZ 
BTL3 TL3 
BTL4· TL4 
BTL5 TL5 
BTL6 TL6 
BTL.7 TL7 

For 2!" dia For 3'Idia 
Slotted Slotted 
Collars Collars 

Part No. Part No. 
BTPl TP1 
BTPZ TP2 
BTP3 TP3 
BTP4 TP4 
BTP5 TP5 
BTP6 TI'S 
BTP7 TP7 
BTP8 TPB 
BTP9 TP9 
BTP10 TP10 
BTPll TPll 

For 2tlldia Fot3" dia 
Slotted Slotted 
Collars Collars 
Part No .. Part-No. 
BTTl TT! 
BTT2 TT2 
BTn TT3 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



Full 'Nosing Cutters 

PPF 2ir"_sq. 
cutterblock 

Dim A 1?art No. l.,. BVFl , 
5/811 BVF2 

-211 BVF3 < 
7/8" BVF4 
1." BVF5 
1.1/8" BVF6a 
'll.rr BVF6 

d" BVF7 
1-~" BVFB 
2" BVF9 

I~ A' 
~.' 

Shallow Nosing Cutters 

Dim A. 
..!.,' z 
0/.8" 
-" 4 

7/8'~ 
1'_' 
1:1" 
11" 2, 

1~" 
2" 

Square .Edge Cutters 

On Cut 

For 3i" sq 
cutterblock 

'Part No. 
VFl 
VF2 
VF3 
VF4 
VF5 
VF6a 
VF6 
VF7 
VF8 
VF9 

For 3!" sq. 
cutterblock 

Part No • 
VBl 
VB2. 
VB3 
YB4 
VB5 
VB6 
VB? 
YHB 
VB9 

For 2t" dia 
Slotted 
Collars 

BVNI 
BVN2 
BVN3 
BVN4 
BVN5 
-BVN6 
BVN7 
BVNB 
BVNS 
BVN10 

For 2~" dia 'For 310 clla 
Slotted Slotted 
Collars Collars 

Part No. Part No. 
BVHl VHI 
BVH2 VH2 
BVH3 VH3 
BVH4 VH4 
,BVH5 VH5 
BVH6a VH5a 
BVR6 VH6 
BVH7 VH7 
BVHB VHB 
BVH9 VH9 

For 3" dia 
Slotted 
Collars 

Part No. 
VD! 
\lD2 
VD3 
VD4 
\lD5 
V06 
VD? 
VOB 
V09 

-For 3" dia 
Slotted 
Collars 

VNl 
VN2 
VN3 
VN4 
VN5 
VN6 
VN7 
VNB 
VN9 
VNIO 

CUTTERS AND CUTTER STEELS FOR SPINDLE MOULDERS 

Special grades of steel are used for making cutters for 
different duties and applications on the spindle moulder. The 
following is a rough guide. 

High __ speed steel-on iron :- is used for long life and for cutting 
hard -woods: High speed ste~l is brittle and is usually welded. to 
a;8:ofter -steel-back/or all types of unsupported irons. These are 
used-on square cutterblocks. slotted collars and some thin knife 
moulding -~cutterblocks. A large range of irons for the square 
cutterblock and slotted collars are readily available in this steel. 

Solidbigh'speedsteel:- is more brittle and iaonly used where 
thecutters are supported very close up to the cutting edge -e.g. a 
thin knife on the Circular cutterblock, or where a strong section 
can be used such as a milled to pattern slotted collar cutter. 

Alloy 'steel on iron :- is less expensive than high speed steel 
on iron, and is more ductile. Alloy steel is not as hard and will 
not stand up to_heavy cutting or hard woods asweU as high speed 
steel. A large range of irons for the square cutterblock and 
slotted collars are readily available in this 'steel. 

-Solid alloy steel :- is normally supplied in -bar form in the 
sofl condition for cutting up by-the customer. It is easily hardened 
and tempered and is normally used for french apindle work up to 
6,000 rpm -where cutters are held by a locking screw in spindle, 
locking direct on to the side of the cutter. 

All ,the above types can 'be supplied inbar form, micrometer 
groWld to precision limits. The alloy and alloy on iron 3/16" 
(5mm) x!" (20mm)upto t" (6mm) x 3" (7Smm)in the soft condition 
and the solid high speed steel 5/32"- (4mm) x 1~" (38mm) and 5/32" 
(4mm) x 2" (SOmm) and high speed steel on iron t" (Smm) x l~" 
(32mm) and t" (Smm) x H·n (38mm) in the head treated condition 
'These latter bars cannot be cut with a_tool and the blanks should 
be ordered -to correct grinding lengths unless the user has suitable 
grinding wheel equipment for cutting to length himself. 

All the above cutters can be ground on the usual standard 
grinding equipment. 

Tungsten carbide ,tipS!- These -are specially made for use on 
hardwood~ woods with high silica content also plywoods and 
hardboards where-High Speed Steel will not stand up to the_abrasive 
action. 'It is much more expensive -but gi ves very much longer - .. 
life. A limited range of these cutters for slotted collars and 
square cutterblocksare available. Special shapes can be supplied 
to order. 
N.B. -SpeCial diamond "impregnated grinding wheels and diamond 
hand caps -are ,essential for shaping and servicing Tungsten 
Carbide Tipped Tools. These are available but expensive for the 
small user for -whom we can offer a cutter grinding service if 
required. 

SHAPING CUTTERS 

When shaping cutters for any mould on any type of cutterhead 
or slotted collars it is important that the correct allowance is 
made to the 'depth of form cutter. 

Fig. 10 sbows -the projections of the cutter to produce a Simple 
rebate. For example using the 3tn square cutterblock, to produce 
a 1" (25mm) deep rebatethe cutter must 'have a depth of form of 
1. 3/1611 (30mm) this being due to the angle at which the cutter 
strikes the work on the line "AA". When a -shaped mould is 
required to be cut itis necessary to plot outthe form of the cutter; 
this is shown in fig. 11. 

It is important when selecting blanks from which to make the 
cutter "that they have the minimum necessary overhang. Also a 
blank as near the shape and width as possible should be selected 
so that there will be less waste and less change of overheating 
cutters when _grinding. 

The minimum cutting circle is 'fixed to give the necessary 
cl·earance for the ,bolt head when working with straight irons only. 

The cutting angle which is normally 350 is shown at "Bit in 
fig. 10 and the cutUng and the cutting angle at "c" this angle v~rieE 
with the size of the cutterblock and the depth of the mould 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



ACTUAL DEPTH 

~ FEED 

."" 

+-+-Y----t-_t_ 

ACTUAt. DEPTH OF FORM OF CUT TEIi' 

FIG. 10. 

To obtain the correct cutter form for a shaped mould, without 
using the moulders rule, itis,necessary topIot this out as shown. 

First the square, block and. cutter at minimum cutting circle 
are drawn out at "Y" in fig. II'. Theradiusofthe·minimumcutting 
Circle is drawn around to the, centre line and, divided up by the 
lines A,B,C,DandE, into either 1/16" (2mm) or 1/B" (Jmm) 
according to the size and intricacy of the shape. these, lines are 
then struck round from the. centre, line radially to, the face of the, 
cutter. 

At ''X" the Lines AI, B1 t Cl, 01', and El are carried across as 
Shown, also at "w" the mould is produced. exactly as at "Z" and 
divided up the saDle, the line3 1,2',3,4 and 5 which, are from. the 
points where lines A, B, C, etc. intersect the edge of the mould, 
are, then drawn across to "X" thus El is cut by 1 j 01 by 2, ete. 
The points of intersection are joined, as shown thus giving the 
correct projected form. of the cutter. 

This takes up considerable time to do for each shapeof,cutters' 
requirfd, and, can be very much reduced by using the moulder'S 
rule as shown. in fig. 12. This' is a graph. on which the, form can 
be plotted' and automatically gives tbe' necessary allowance, onthe 
depth of form. 

When· the mouldistobeastandard, atemplate' should be made 
to, the· projected form. to which the, cutters can be shaped when the 
job repeats. This, will ensure uniformity on all future runs. 

MOULDERS RULE 

Apermanent moulder's:rule can be' made by the customer in 
sheet brass and, aluminium and' will then be handy' for use in the 
workshop. 

To plot the form of a cutter by use of the moulder IS rule it is 
necessary to draw the full size· shape of the mould on tracing paper 
and rule 1/8" (3mm) squares as shown in fig. 12a. This, is theri 
placed alongside the moulder's rule, and projected across, this 
will give, a series. of dots which, must be joined to give the form of 
the cutter. The cutter blanK, chosen, must be, wide' enough to give 
at least 1/8" (3mm) overlap beyond the edge of the mould. The 
depth of form of the· cutter for the same. mould. varies slightly 
Wl1t!ll Ul:!etl on a 3i" (89mm) or: 2~" (64mm) .square cutterblock due 
to the different cutting diameters. Moulder'S rules are required' 
for each size of square block. The cutters are not interchangeable 
from one size of cutterblock to another if a really accurate mould 
is required. 

CORRECT FORM OF 
CUTTER • 0 

ACE ACWAL SHAPE. 
OF MOULD 

s--+-------~tF~---

"X" 

CUTTER 

.,OCK 

. , 
2 , 

IJ 
AI Cl El • 

-h
QVAR

' 

---+---ft++1r+--,t 
''Y'' 

MININIUt.4 (:UTTING 
TRACK 

'-w ., 

ACTUAL. SHAPE 
OF-MOULD 

.t+ffi:==---s 
" 

"z'· 
A,' C 

17. 

FIG: 11. 

MOULDERS'· RULE 

'0. 2' 4 6 .B' 

PROJECTED S:HAPE, 
OF CUTTE.R '; 

( 

ACTUAL 'MOUlD 

F1G12A. 

o 

" 

FIG.!:! 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



lB. 
by a reciprocating or rotary motion on the 'cutter, using a little 
paraffin to give IIBite" to the stone. The honing stone is a much 
£iner grit than the grinding wheel and leaves a sharp keen edge. 
Anumber of honing stones of different shapes, e. g. ~ound sticks 
or square sticks will be found helpful in hOning shaped cutters .. 

A 
I 

I A 
,....L. ____ _ 

: ,--6 J..L:-"---

HOH. HONE 

C~ GROUND CUTT: 

J2I~21J 
HOLLOW 

FIG.l3. 

CUTTElf GRINDING 

, Cutter should be ground carefully avoiding -any overheating 
_ as-this,'will ".;:rack or soften cutters so that they will not 'Stand -up 
to-the work. -

A. Bo.l~tiori -of. solubl~ oil and water should be handy and the 
" :cut;J:er,s:,·_sh_oqld-:b,e held in this occassionally to cool them. This 

- S_QJution~:~;.al~~_ prevent rusting. Cutters should never be 
allowed to. ~cc_omc discoloured during ,grinding, as -this indicates 

'ov.erheattO.g. ' 
:,_T.~~-'~orcr~:ct cutting angle of 350 for most cutters should be 

:main~ained:'as this gives the correct -strength to the cutting edge. 
WilEi'n_ hollow_ grinding is carried out, the angle of the cutting edge, 
shoUld tie .kept :as,Ilear"350 as POSSible, see fig. 13(a} and (b). 

I , - , • 

(a) (1)) 

(c) (d) 

\ 

-
FIG.14. 

~: ~C!llow-:- ~inl:J,ing-,~ r~commended wherever possible, as ,a TYPICAL CUTTER LAYOUTS 
~_ee_n'cutting,'edgej6:mor-,e easily obtained when hand lapping. When 
laPIling,: OX'-_, ~toniIig a fiat ground cutter, a! good ,edge is more 'In all cases where possible when using square cutterblocks it 
difficiil(to,'obtain due to the tendency to rock the'stone and leave is advisahleto break up-the'cut over two or more pairs of cutters, 
a convex--face~ this has -many advantages as is shown in the examples shown in 

Good' -"open grain wheels should be used and should not be fig. 14. 
allowed:~o);:)_ecome glazed, -as this will cause excessive -beat. Fig. 14 (a) SIMPLE REBATE. By llSing t,wo pai,r of cutters there 

~bouq:_2_!_"- (304mm) diameter wheels used down to 10" (254mm) is -very little "grindtng to be ,done, only SIde l'ehef on the cutters 
giVe __ , tb~ :be_st,Tadius for a hollow grind and an economic life. 8'· "B" to give a good clean cut and prevent burning. Cutters are 
(2o(tnm)' ·whe_els -used down to 6 tT (l5Sm'm) :leave- the grind too mounted on all sides of the block. This also spreads the cut over 
hollow~_ '_ ' the four sides ofthe block and gives a smoother action. 

'--:~u~gs:t:enc~rbidetipped ~utters sho~_d~e purchased the shape -Fig. 14 (b) SASH MOULD. This is best worked with three pairs of 
require[t ~d, ~e-grollndo only ,as -necess<l;r:y. In this c<l;se cutters cutters as it enables correct side relief,to be obtained ,on all cuts, 
should ~~,:.;'~,li~ve<i at 35 on t~e_~eel posItIon and .the bps finished It also allows the same cutters to be used with varying widths of 
wi~h __ a, ~aI?_0I.l:d impr~g9~te~ wh~el at 450 ~s shown, using only mould as they can easily be adjusted sideways. 
veI'Y light '_CJltS_ to prevent crackmg. The diamond 'wheel should 
not- b~-~llowed to- touch the -steel backing as this clogs the wheel Fig. 14 (c) and (d). HAND RAIL MOULD. This is broken up into 
and- cau~es :exce~sive heat., ,Where available_ a copious flow of three separate operations. At -fig. 14 (c) the top is worked first 
coo.~ants.h()uldbe,used. They may 'be honed with a Diamond hand BO that the timber runs on a flat face. This cut is done by only 
lap, as_the ~utter becomes dull, until a -re-grind is necessary. A one 'pair of cutters. At fig. 14 (d) the sides are worked in two 
thin l?ill1~.bric_ant should be used on the hand lap. operations, one pair of cutters doing all the side work. 

All cutter bianks sent outby us are ground only and if usedas _ ' _ . , , 
Chippers' 01'- rebate cutteL's require honing with a 142 carborundum By breaking the moulds up as Illustrated, ~t is pOSSible to u~e the 
slip stone -to produce a razer sharp edge -before commencing to same cutters. for many moulds thu.s reduc~ng the .total q~nbty of 
cut. This will ensure a good finish 'on the wood and an easy feed. cutter~ reqUired, it makes grindmg of SIde relIef a sl~plc. 
Dull C tt gi h d I ked t f

· d operation and enables the exact shape to be obtained by adJustIng u ers ve a poor, roug an p uc: ou imsh an make . , 
it difficult to feed the 'ob ast the cutters H 'n sh 'uld h d n pa~rs of cutters across each other. ,It IS, essenhalto have each 

Jp. om g 0 e 0 e paIr of cutters balanced for smooth vlbratIonless of the machine. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



19. 
TYPICAL SET UPS 

A I - - -. 

Ale 

( 
, 

& 

, 

--
0 

---~ 

FRAMING ON SQUARE BLOCK FIG. 15' 

& 

) 
Ale 

FIG.IS. 

Equipment required,:- ti" (30mm) diameter loose screwed 
spindle, square_ cutterblock three. pairs of cutters, straight fence­
and. shaw guard. The cutters will have to he 'shaped to suit. the 
moulded portion, allowing for angle- by usin~ the: moulder's_ rule 
Each pair of cutters must be balanced to prevent vibration, then 
accurately set up on the. square block, so. that all are cuHing. 

The· cutterblock is then mounted on. the spindle, fences Bet 
correctly in line, top_ and side spring, pressures set to hold work 
firmly to the· fences, adjustable. 

Spindle speed :- 4-,500 rpm. 
Not e :- Cutters are always used in pairs to maintain balance. 

SHAPED PANEL. ON SLOTTED COLLARS. FIG. 16 

Equipment.' :~~q\:!i;ed :- 1" (25mm) diameb~r:: lo()se screwed 
spindle one: pa;r:Qf,,slotted (one being the __ ~~]J,earing;_type) one 
pair nosing cutterS-_ arid safety guard -with, flap:s ~- :r'her cutters are 
set up in the- collars _ keeping miriimum, track~-in_ line, ~ with tbe 
bottom_ ball bearing slotted collar. The collars, are moUnted, on a 
1" (25mm) diameter loose top piece. The, work:, piece is held by 
spikes-to master former which is helow the- work~- , 

The safety--guard- is set to cover' the cutters' and fair piece-.The 
former is passed' across the guide. The- cutters are' c-ompletely 
shielded from. the operator's hand by the, work. 

Spindle'speed :- __ 7,000 rpm. 

\ \ 
( { 
\ \ I 

I 

$ , 

FIG;l7. 

CIRCULAR CUTTERBLOCK WORK FIG., 17 

Equipment required :- _l-}n (30mm) -diameter, ioose-top;.piece, 3" 
(76mm) deep circular cuUerblock, ring fence_, and safety guard 
with flaps. . . ~ ~. 

The, cutterblockis' mounted on the, Lt", (30;mm)- diairletet -loose 
top'piece and set 86 thal_cuttertrack is,- in line~ with-.fhe ring fence 
as shown. in Fig. ,- 17 ~ _ Tne' guar<i is,then, s~t ~'o, ,cover_up biocli and 
·top piece leaVing-only sufficient room for-work to _pass, underneath. 
Work is to be_ mounted. on a shaped.' fiXture whk-h. is, heid ':U:p_ to the 
ring fence. Contact must always l:;Ie, at the samepoint-.onthering 
fence_ to ensure even' depth, of. cut. -This-' is, ,es'sential t;lue,to,the 
shape of the ring. 

L.. 
______________ -'-F.:.:IG:::.I::J6. The circular block gives a good smooth cut and finish to 1V0rk. 

Spindle speed :- 7,000 rpm. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com



A FULL RANGE OF SOLID PROFILE CUTTERS CAN BE PROFITABLY USED. 

No.2 -1-;-" Square edge 
cutter, (If" bore) 

No 19 ' 5/16" Rad.Ovolo 
• Cutter (It" bore) 

No.S 3/16"'Tongulng 
Cutter ,(1 t" -bore) 

No.22 ~"dia. Nosing 
Cutter (it" bore) 

No.9 

No.23 

3/16" Grooving 
Cutter (It" bore) 

7/8" dia. Nosing 
Cutler (It" bore) 

No. 13 

No. 24 

Reversible Glue 
Joint (H" bore) 

I" dia. Nosing 
Cutter (1t" bore) 

No.31 in -RruI. Cutter 
(If" 'bore) No.36 3/811 -Rad. Ogee 

"Cutter (If" bore) N-A2 45° Angle N 43 30
0 

Angle 
UM' Cutter (If" bore) O. Cutter (It" bore) No.SI T"". "'r." Cutter 1," bore) 

INSTRUCTION FOR REGRINDING PROFILE CUTTERS 

FIG. I. 

There are two methods of grinding these cutters: 

1. With preCision tool grinder. 

This method Involves grinding the cutt_er on an- arbor between centres. 
The ma_chine 'should be_ sel to_grind the_ face of the cutter so that angle ABC, in 
Fig. I_is the same after -grinding-as it was originally. 

2. With hand or bench grinder. 

Beforeregrindi!1gthe cutters by.this method ensure that the check chart supplied 
wH~ _the ,cutters is to hand:; To check the angle of the cutters, _place the new 
ground.face, 1. e. line BC, in Flg.I, against that of the check chart -and when 
the angle is 'correct the bore of the cutter should correspond to that of the check 
chart. This-ensures that the correct angle is maintained at all time. 

NOTES 

1. A _slight Variation in the angle ABC, in Fig. 1 on opposite wings of the 
cutter is not too important, but fol' the best results avoid having the point "B" 
1n Fjg. 1 or its opposite on a different radius. This would cause one cutting 
edge to do all the cutting and would make the cutter out of balance and cause 
,,"ibration. 

CORRECT WRONG 
FIG.2. FIG.3. 

2. When making Single cuts with more than one cutter in the set up always 
STAGGER the cutling edges rather than line them up. Doing this improves the 
quality of the work and reducesvibraUon and chatter. Staggered cutters require 
less power than "in line" t::uiters. 

3. Cutters must always be ground in the root of the tooth, as shown in Fig. 2 
never,as In Fig.3. Otherwise the cutters will drag or fall to cut the complete 
shape, Failure in observing this point results in weakening the tooth form and 
shortening,the usable life of the cutter. 

4. REGRINDrnG SERVICE 

We offer precision regrinding service and the charges are moderate and the 
service prompt. 

RETURN THE CUTTERS TO: 

BURSGREEN (DURHAM) LThUTED, 
FENCE HOUSES, 

HOUGHTON LE SPRING, 
CO. DURHAM. 
ENGLAND 

CAU'T'TON 

We do not recommend these cutters to be used on anything but short runs of 
plywood or resin handed wood substitutes, because resInous glues used in 
making plywood etc. are extremely hard and abrasive. This causes the cutters 
to overheat and soften if not or the Tungsten Carbide Tipped variety. Write for 
pnce.s of spel;ial tipped cutters for such materials. 

www.D
alt

on
sW

ad
kin

.co
m

www.DaltonsWadkin.com

www.DaltonsWadkin.com


	page-0001.tif
	page-0002.tif
	page-0003.tif
	page-0004.tif
	page-0005.tif
	page-0006.tif
	page-0007.tif
	page-0008.tif
	page-0009.tif
	page-0010.tif
	page-0011.tif
	page-0012.tif
	page-0013.tif
	page-0014.tif
	page-0015.tif
	page-0016.tif
	page-0017.tif
	page-0018.tif
	page-0019.tif
	page-0020.tif
	page-0021.tif



